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For more teaching tips, visit the STORE and look for instructional
Mathematics workbooks.
1. What is the sum of the 18" and 24t terms of the sequence?

-21,-17,-13,-9, ...
(A) 112 (B) 116 (C) 118 (D) 120 (E) 122

nthte)m = a + (n - 1)d, where ais the firstterm, and dis
the common difference.
18thterm = -21 + (18 - 1)(4) = 47
24hterm = -21 + (24 - 1)4) = 71
47 + 71 = 118

2. What is the circumference of a circle with an equation of
2x + 4) + 2y - 7)* = 3387

(A) 261t Units (B) 1601t units (C) 26./2 T1tunits
(D) 13zt units (E) 2 /2811 UNnits
Divide both sides of the given equation by 2.

x + 4):* + (y - 7)* = 169

x - h):* + (y - k)* = r: where (h,Kk)isthe center of the
circle and r = length of the radius.

r = yw = 13 ; C = 2mr = 2(m(13) = 261

3. The geometric mean of the numbers 32 and 18 is how much greater
than — 77

A) 32 (B) 18 (C) 43 (D) 11 (E) 31



The geometric mean of 32 and 18 = [z08 = JOeans =
Jaexzs = 4(6) = 24.

The geometric mean, 24, is 31 greater than —7. Answer is 31.

4. What are the roots of the equation y = x* + 6x - 147
(A) = 3 T '.".23 (B) 3 T "."-23 (C) = 3 - 2 '.".23
(D) 3 & 2 '.".23 (E) = 6 & 2 '.".23
Use the quadratic formula :  x ~be "'_:_j";‘ dac
62 J6-4(1)-14) _ 62436+ _ 624 _ 6223 _ _ ,-
20) = — 2 = —z = o = "3 =3
5. The equation 12x - 11l = 89 has two solutions, A and B.

If A < B, whatisthevalueof B - A?
(A) 11 (B) 100 (C) 50 (D) 89 (E) 78

2x - 11 = 89 or 2x - 11 = -89
2x = 100 or 2x = -78
X = B0 or x = -39

Since -39islessthan 50,then 50 - (-39) =



